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Section A

| Do not write
| outside the
| box

Answer all questions in this section.

' E Determine whether the following reaction is a possible decay for the neutral pion .

-+t
' [2 marks]

| The |(gim (an be/ v ot cmamgAfO?H;H
Ea )

- Mot 'DOSSJML U’o/ AF(CIM 1‘})0(;(0_/;

|
| EI State the two possible quark configurations of a n’. '
‘ [1 mark]

1 tLll |

2 9

\ EI A student suggests that the kaon K° and the anti-kaon K° are the same particle.
|
|

Discuss whether this suggestion is correct.

- [2 marks] ‘
‘ ) ; . —_ ko . .
| K com Pos.Jr.m ) AS ; @“POStJﬁQL |
| 0 s These s ot e Same ;
| So Lhe skudent v nola ch |
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- E The nucleus is held together by a force. It was predicted that a particle exists that is :

e
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box

responsible for this force. The particle itself must experience this force. ‘

The particle would have a rest energy between that of an electron and half thatofa |
nucleon.

Discuss whether a kaon, a muon and a pion each have the properties of the predicted
particle.

Information about these three particles is in the Data and Formulae Booklet.
[4 marks]

Te  Stioa  tuclear 1’0{ (e w e Da(c&
'HIOL)I' \'J AOMS ‘Ulﬂ A LPuA lLO@? H‘H/ e n@fh{
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Q. {}Q/.'QA& U& S\L (o poroe 1f

Canpat L& H‘-ﬁ J U !(Mn Lﬂ(‘r'lmg
O ) wh 6| acomt L0 Mol |
b o b btume U oan b o |
lml' a_Auclem o v mm Lﬂ(m_».é._
J}g‘b Moss a'}q n the ftm( muaﬂ?éz =
o U‘ s O 0bin & S0 i?/aQ/t

the Shdg ‘QXP e |

Turn over for the next question

Turn over »
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| Do not write
outside the
Figure 1 shows an arrangement used to investigate the photoelectric effect. | =

Figure 1

_ electrode with
wire alectrodew photoemissive surface

j |
e .

G
Y

—0  o0—

variable voltage supply

A current is measured on the microammeter only when electromagnetic radiation with
i a frequency greater than a certain value is incident on the photoemissive surface.
|

III Explain why the frequency of the electromagnetic radiation must be greater than a
certain value.

|
|
[2 marks] |
|

| T fequy 4 ke phb o ohks |
! b L e by F< b |
N ( |
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J ! o 6
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The apparatus in Figure 1 is used with a monochromatic light source of constant box
intensity. Measurements are made to investigate how the current lin the ‘
microammeter varies with positive and negative values of the potential difference V of

the variable voltage supply.

Figure 2 shows how the results of the investigation can be used to find the stopping |
potential.

Figure 2

|
| | |
; } ! 0 T ‘ -.
-1.5 -1.0 -0.5 0.0 0.5 1.0 1.5

stopping VIV
potential

. @ Determine the number of photoelectrons per second leaving the photoemissive
' surface when the current is a maximum.

[2 marks]
Ry, Gient & 30pA
?)Orl A v 30 M 3™
So 3ouls i 0t deckans P second
-9
C
l‘ b X0 number of photoelectrons per second = . § ¥ [Dw
Question 2 continues on the next page
. _ Turn over »
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i Do not wril

| E’ Explain why / reaches a constant value for positive values of V, Mﬁ:m
[2 marks]

| MHWMA

| 0 Sorenh Wil Apend mﬂ,.nfms#

! gt d . L ol ;‘

! _(QJ&M v Cen _ | foele

| elonged  (eoch Honude . 05 How U 10 Moy,

IBLo\'o e k(s ﬁDWj a(aund “Q < .'rml‘l"

E’ Explain why 7 decreases as the value of ¥ becomes more negative.

[
| [3 marks] "
The (eleased Dbto_decﬁcm_l*iﬂ o (ome.

| e ] J |
‘ ) \:md\'c Loy nl'nMde/m.\ IOS_C

|

|

|

e ancle v lwlos \V JL‘(M/J fogn bse.

‘ AJ V. Leconw Motz Mﬁgb'&, . ’,[MMJ .
| —phovoele chans S cond e enouq |
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|
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E— B === = : _ | 0arot i
| E The investigation is repeated with a different photoemissive surface that has a smaller |
value of the work function. The source of electromagnetic radiation is unchanged. |

Discuss the effect that this change in surface has on the value of the stopping

potential.
[3 marks]

n {JmLenl'n\ = Ei.. b o so :}I E{;mtx
‘ J Q. lacNaser 3o Aees

_\g\:\kﬂm\ D Uo gigm  polentinl.
% |

-Jg the  Work Pmdwbn ) dtcmm, I
W?j h Enumu)/ o l\mu Sl—oﬂ)l'y

Turn over for the next question f ofent ol "”C{“ .
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‘ A student investigates the interference of sound waves using two loudspeakers, b
: P and Q, connected to a signal generator (oscillator). Each loudspeaker acts as a ‘
point source of sound. |
Figure 3 shows the arrangement.

Figure 3

signal
generator e—

| plan view |
' not to scale

|
' Point O is the midpoint between P and Q. ‘

[I] Explain why the two loudspeakers are coherent sources of sound waves. .
| [2 marks

Cohengak Soud  Wowep  Mears  the  saud
| Uowo hote the  Som \PM"/*‘”‘_%) oA (Ostart

(Ilhwt M;Joerm~ Both  swwer S?QQKE/S

e conneclod L U same Sianal !
Smmof W So W : wd  Q ;{ |
Cohetznt Sowc @2

I HNO|I||lm| |||| 1B/M/Jun20/7408/1
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El The student faces the two loudspeakers at point A. Point A is at equal distances from |

Pand Q.

He then moves to point B, at right angles to the line OA, still facing the two ‘
loudspeakers. |
As his head moves from A to B the amplitude of the sound wave he hears decreases
and then increases. The amplitude starts to decrease again as he moves beyond B.

Explain why the variation in amplitude occurs as he moves from A to B.

bl Asiaceo PA ol NA o &}A.m|
the g o) yf o th Sf;gak us_ Lapu ,a,rse . ‘
At A o B, th  bio  Uaves |
ae PJ‘nSe o o Mocmem v ploduced. |
Lo bheon A ob B e b a |
fa th A{h\] 2on@ of  the Vows  ore  QuA |
4)}155& . Noyum touacds B the |

'J \Jou) Mose ank ks P‘hx ol
the U“?Umh oo (os How v a

rno-x.'ma)

Question 3 continues on the next page

Turn over »
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[0]3].[3] The student records the following data: e
|
separation of the two loudspeakers =0.30m
distance OA =225m |
distance from Ato B =0.95m ‘
' Show that the path difference for the sound waves from the two loudspeakers to |
point B is about 0.1 m. B r
4 [3 marks] i
|
| ' |
P ] y 0. qSM |
0.300 / |
O I — A *
“1.1%m
< |
o Q --{ !

1.%
u (125 1 + (0.95 3 0371) )( = RN q"" |
= (205 + (o, 05- 03/)H T - AR L30m

Q-8 = 1950 -2.39=0llm

— |
‘ - E The frequency of the sound wave is 2960 Hz.

| Calculate the speed of sound from the student’s data.
| v=
- -1
Vs 2960 x 0.1l = 225 £ ms

( W i ux Pou’fh ﬂ.ﬂimu ngom the [)aH, &j)emu_
| v 1 umkn}“a)

i speed of sound = % 3 0 ms™!

[1 mark] |

LU

1B/M/Jun20/7408/1
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i tsido o
‘ E The student moves his head to point C as shown in Figure 4. The emitted frequency boy
i of the sound from the loudspeakers is then gradually decreased.
| Figure 4
' D
| I
| =
]
| : |
l :
Tie |
i |
signal o 10 i
generator : :
Q
I
| plan view
: not to scale
Discuss the effect that this decrease in frequency has on the amplitude of the sound
wave heard by the student. '
[3 marks]
Ii A becrose In Jpretv@j Mas QN 0(Rose |
i ' Wauig (91\ aH\ L LP.LA:HL&.&M_Q__‘
J
| ot ( g2k Closer 1~ e
| “twdmﬁ L 6.8 Ly W Lg%ﬂ, (A(00S2n i
: The Vaver Hmilo 7a mowe ko Iﬂhnc [_
| '
| oh o Hen b mlol, tule  incosen, |
o the sauf) %d') l % i
| i
| [
Turn over »
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[o]a] R
A pair of cameras is used on a motorway to help determine the average speed of e

vehicles travelling between the two cameras.

Figure 5 shows the speed-time graph for a car moving between the two cameras. ‘

Figure 5
30- SRR UL ERRER KEEHS EERN CHURT TTURE |
20— |' | afa |
i Misics it | ? ——

0 ! — - ’ ' .
00 05 10 15 20 25 30 35 40
‘ time/minutes

|
EI The speed limit for the motorway between the two cameras is 22 m Tt ‘

|
‘ Determine whether the average speed of the car exceeded this speed limit.

[3 marks]
Digtance {‘!NQ“QA = oo O0ndy ar,Ph
1 > 5"3“‘%: 1.5 v 15 » bo SR LSy fox Yx0.5 = ‘l_l'-”':_i |
| f*gejm-_ | x bo x 14z HWO
| L0

Qe Sfjf"an\‘f |5 xbow 11 ¥ % LS x 1% box D> <

Totel Astante = ugis |

. L5~ 9p | ms
M e

So  the (VLY S{Juﬁ Adnt excecd the
\.'mi{‘\

| Question 4 continues on the next page

Turn over b
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EI Markings called chevrons are used on motorways.
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outside tht
box

The chevron separation is designed to give a driver time to respond to any changg in |
speed of the car in front. The driver is advised to keep a minimum distance d behind |
the car in front, as shown in Figure 6. |

Figure 6

not to scale

Government research suggests that the typical time for a driver to respond is between
1.6 sand 2.0 s.

Suggest a value for d where the speed limitis 31 ms™.

- [2 marks]
10, Ljfica\ time g
|
Squj L'm.\- - 3 ms”’
Distne = 31 x 7 = 6m
(Wse M 0% Mum bp.'m\ b e ond Sf&“ |

e

B/M/Jun20/7408/1
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| Okaide the
: E] The chevron separation is based on the response time, not on the time taken for a car box

to stop. |

The brakes of a car are applied when its speed is 31 m s™' and the car comes to rest.
. The total mass of the caris 1200 kg.

The average braking force acting on the car is 6.8 kN.

Calculate the time taken for the braking force to stop the car and the distance
travelled by the car in this time.

[4 marks]
FO{ (e = Mo-3> A &(,(Qlllﬂ‘m |
o= F ae (800’ = 5§ ms?
" 1200
- b
s-h-un-t S “ v a @ V" “w &
o
3L 0 i
|
| b= vz % o-3l _ b gybs
a’ - -
Pt b"é

; time = g 5 )
' distance = R 5 m |

; lzl Suggest why the chevron separation on motorways does not take into account the !
. distance travelled as a car comes to rest after the brakes are applied.

[1 mark] |'

The (qc (A 3:'0:\\' Uocld  foke |

Vo  sane Lime & be (o i

| ke b uhea bra k{nj fle En\(j |

i _A;ﬁ_& lan¢e % (Qoh'0) b me \6/] |
| Question 4 continues on the next page

. ) - _ _ Turn over »

0
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E’ At bends on motorways the road is sloped so that a car is less likely to slide out of its box
lane when travelling at a high speed.

Figure 7 shows a car of mass 1200 kg travelling around a curve of radius 200 m. i
The motorway is sloped at an angle of 5.0°.

Figure 8 shows the weight W and reaction force N acting on the car. The advisory
speed for the bend is chosen so that the friction force down the slope is zero.

Figure 7

Figure 8

o

I

1B/M/Jun20/7408/1
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Do not write

Suggest an appropriate advisory speed for this section of the motorway. e
[4 marks]
LN
W= N cos5) \(_,fl"___ -
MS = N Cos (5) \'
N, = Ng;
lb’-'imh\ Sin (5)
V
F- my? W
~
Nblszu\ < ‘:(F.QLI'M\ PDI({
Z
O« NEus)
r
Subst N J/c«an‘)
i advisory speed = 13 ms! 14
My? :
= 2 Nma$ia b
! 4 J_i
w:§ Turn over for the next question
2
W mg ban ®
RN
V'l =3 ( boanS
V< Y(Lgl X 7-00 & +Q.n 5
- 130 msT
Turn over »

T
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. ) ) ] = " | Donot write
oulside the
Figure 9 shows some of the apparatus used in a demonstration of electrical power box
transmission using a dc¢ power supply.
Figure 9
12V &= ®

w ||/ )

connecting _

wires s

A power supply of emf 12 V and negligible internal resistance is connected to three
| identical 12V, 1.5 W lamps in parallel.

' EI Show that the resistance of one of the lamps when it is operating at 12 V is i
about 100 Q.

W N

1= 12: qCQ |
P

e

| 3 10/ =

| @ Initially the power supply is connected to the lamps using two short copper wires of

negligible resistance. |
|

Calculate the current in the power supply.

[2 marks] |
uscents  pbe o l)fanclq 044
| v loon
| ER2oonp [ tn loy
100
0.36A in  po 3Py
current = 03( A

L

1B/M/Jun20/7408/1



. E The two short copper wires are replaced with two long constantan wires.

19
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box

Show that the resistance of each length of constantan wire is about 50 Q. |

length of each constantan wire =2.8m
diameter of constantan wires =0.19 mm
resistivity of constantan =49x1070Qm
[3 marks]
A2
L= p N: W90 Am X 13
5. - |
A 0. 1Yx o 3¢ |
A= et PR = |
= M( pa i
N= L3 ¥ n

‘ E The demonstration is intended to show that the lamps are significantly dimmer when |

connected using the long constantan wires than when using the short copper wires.

Discuss whether the demonstration achieves this.
Support your answer with suitable calculations.

[4 marks]
For 'Oj (nslentan ey | W\f)
0y = Lg2 + 10073 = 129.3
(Wwws) (‘MP |
| Gecik et = 1171243 - 0.0934A |
: CWrlah jklﬂﬁf’ > LSz 0175A o |
12 for all 3 :03% A
0 o013 A & lb‘s “‘m n.38 A So '
; Uu dom ons) (Bron Shows H:vl- “ul Ja’nrnj
| Lul\ Le_ A e e 4 ostonlan L/
| Question 5 continues on the next page
_ _ _ Turn o;orlv

i
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E] Scientists and engineers are investigating the use of superconductors in electrical | o
transmission. '
Discuss one advantage and one difficulty when using superconductors in electrical
transmission over long distances.
[3 marks]
|
Advantage  S.p (mAuchors  op grate ot Zerg |
] | |
e, ston (R T edus hﬂ_a\“ m‘@' i
l::w. 4 [ B . |
J
[
. : ‘ |
Difficuty T} W &-j le Culd 4 M ta /n -
\W !llﬂfﬂéw G?P(mwlﬂlﬂ» 2ero |
be caunc ﬁ.{wmﬁwao my Lo kﬂ{ﬂ f N
13

LQ\ ) Hwe{( AN\ fom {?'Q/ atuse |

END OF SECTION A ‘

|Iﬂmmm (B/M/Jun20/7408/1
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Section B
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| oulside Iht

Each of Questions 06 to 30 is followed by four responses, A, B, C and D.

For each question select the best response. i
|
|

@y one answer per question is allowed.
For each question, completely fill in the circle alongside the appropriate answer.

CORRECT METHOD El

as shown.

wrona MeTHODS [® |[@ [=] & | ‘

If you want to change your answer you must cross out your original answer as shown. IE |

If you wish to return to an answer previously crossed out, ring the answer you now wish to select

You may do your working in the blank space around each question but this will not be ma

@ use additional sheets for this working.

rked.

J |

Mechanical power

A is a vector quantity.
B is measured in J.

C has base units of kg m? s™.

D can be calculated from force x distance moved.

constant.

What is a possible SI unit for £?

A4 1) [ [

M

[1 mark]

[=]
[=]
[=]
E |

Water waves of wavelength 4 and wave speed v are related by v =kA where kis a

- [1 mark]

Turn over p

1B/M/Jun20/7408/1
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A photon has energy of 1 x 10'¥ eV. .

An object of mass 0.03 kg has kinetic energy equal to the energy of the photon.
tis the speed of the object? |
B j ' my? [1 mark] |
I'( E ¢ /7. v .

Alms" [=] \[—w

B 3ms™ [=] \\ Xm

C 10ms” (=] V= m
D 30ms™ (=]

A deuterium nucleus and a tritium nucle

us fuse together to produce a helium nucleus and |
particle X.

%Hr;’n —>‘2‘He+x

What is X?

A an electron
B a neutron

C a positron

ofofofo
i

D a proton

(%)
[3%]

The radioactive nuclide 2

Which nuclide is formed as a result of these decays?

90 Thdecays by one o emission followed by two B~ emissions.

[1 mark]
238 4l Th : Bk

A U
92 qo

230

228

C “5oTh

228

2 2

o] [o] [o] [o]

1B/MNun20/7408/1
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EEI What quantity is measured in kW h? e
[1 mark] |
A charge E]
B current [=]
C energy E
D power E'

II@ An electron collides with an isolated atom and raises an atomic electron to a higher energy |
level.

Which statement is correct?

[1 mark] :

- |

A The colliding electron is captured by the nucleus of the atom. E .
B A photon is emitted when the electron rises to the higher energy level. E]

C An electron is emitted when the excited electron returns to the ground state. EI

D The colliding electron transfers energy to the atomic electron. El

Turn over for the next question

Turn over »

2 3
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- = T : Do not wri
outside th
. [Ilzl Which graph shows the variation of momentum p with wavelength 2 of a photon? how
[1 mark] |
A B
i
P P
0 _ 0 |
0 i 0 /
|
C D
P p
| 0 0
| 0 /. 0 /
S
|
| B [=]
c [=]
D [=]
|
|
”II"!MJ"‘ ml B/MAIUN20/7408/1
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A monochromatic light wave travels from glass into air. ‘ e
Which row shows what happens to the wavelength, speed and photon energy?

[1 mark] i

Wavelength Speed Photon energy ‘
A increases increases increases E

|
B | does not change decreases does not change E
C | does not change decreases increases ED]
D increases increases does not change E]

IIE] A wave travels across the surface of water.

The diagram shows how the displacement of water particles at the surface varies with
distance.

displacement |

distance

N

Which row correctly describes both w and 2?

[1 mark]
|
w z ‘
A amplitude wavelength E] |
B | half-amplitude period [=]
C half-amplitude wavelength E
D amplitude period E]
- Turn over »
‘ \ll"lz“"lll“ w 18/MIJun20/7408/1
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The diagram shows the cross-section of a progressive transverse wave travelling |
at 24 cm s™' on water. The amplitude of the wave is 2.0 cm and the frequency is 4.0 Hz. ‘
|

S not to scale

Which statement is correct?

A The phase difference between particles at P and S is grad.

B The distance between P and R is 6.0 cm.

C The particle velocity at Q is a maximum.

o] o] [o] [o

D Particles at P and R are in phase.

2 6 IB/M/Jun20/740
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Unpolarised light travels through two polarising filters X and Y and is then incident on a
screen. When X and Y are arranged as shown, there is a maximum intensity on the

screen.
X is held stationary but Y is rotated in a plane at right angles to the beam so that

@ increases. |
|

screen

X Y | |
I\ 0 x |
\I > \”I » _'
What are the next three values of , in rad, for which the beam hits the screen with
maximum intensity?

Y

[1 mark]
n 2n 3n
A bres] ot
» 27 =
n 3n Sn
B e Ty
2 22 E
C m,2m 3n [ ]
D 2n4n,6n  [=]
Stationary waves are set up on a rope of length 1.0 m fixed at both ends. .
Which statement is not correct?
[1 mark]
A The first harmonic has a wavelength of 2.0 m. [=]

B The midpoint of the rope is always stationary for even-numbered harmonics. E]

C A harmonic of wavelength 0.4 m can be set up on the rope. E|
D There are five nodes on the rope for the fifth harmonic. E]
6
(Thee oe  ®)
Turn over »
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Monochromatic light is incident normally on a diffraction grating that has | e

4.50 x 10° lines m™'.
The angle between the second-order diffraction maxima is 44°.

What is the wavelength of the light?

[1 mark] l
dsino - a)
A 208 nm [=] 4 [
x = A S;f\ 9 R = I~
B 416 nm (=] s beo
C 772 nm E @ = L"Lt _ ?'10
D 832nm [=] 2
The diagram shows the forces acting on a uniform rod.
20N |
1L
. 0.20m " 0.30m 020m 0.30m R
|
6N ION 4N
Which statement is correct?
[1 mark] |

A The rod is in equilibrium.
B For equilibrium, an anticlockwise moment of 1.0 N m is needed.
C For equilibrium, a clockwise moment of 1.0 N m is needed.

D For equilibrium, the 10 N force should be increased to 20 N.

[o] [ [o] [o]

IOrJ

Vjﬁ/

.8 Nm 0.9Nm

_—-”.—— ——

1B/MIJun20/7408/1
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IZEI Small water drops leave a tap with zero velocity at intervals of 0.20 s. | box
They then fall freely 0.80 m to reach a horizontal surface. !
How far has a drop fallen when the previous drop hits the surface?
[1 mark] |
Qe v - QF
A 0.16m [=] L e I
B 020m 2
E' €= K + 4 -fi 0&{‘
C 0.40
" (= = 0.20m vhy et drop
D 0.60m [=] oy  SoIRLAC
@E A pellet with velocity 200 m s™' and mass 5.0 g is fired vertically upwards into a stationary
block of mass 95.0 g. The pellet remains in the block. The impact causes the block to |
move vertically upwards. j
What is the maximum vertical displacement of the block? ‘
[1 mark]
- 3- <3 l/ |
ASlm [=] 100« 5310 "z 00 x0 X |
vs (0 my”
B 10m [=]
w v & %
¢ sim = 9L
D 100m [=] ¥ 2 u-t 2os 5. ot
s= vi-w® e R0
| . . | 0 o na e n |
@E] An electric motor lifts a load of weight W through a vertical height 4 in time .
The potential difference across the motor is ¥ and the current in it is /. |
What is the efficiency of the motor?
\/Js z Ey i [1 mark]
Wh \W h
A—— ~
Wf %
VI ‘3 = UL S U T
B :
Wht EI t
- N
tVe
Vit
D S—
— [=]
Turn over »
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A particle of mass m undergoes simple harmonic motion with amplitude 4 and frequency f. | i

What is the total energy of the particle? -
[1 mark]

A21‘l:mfA2 E E; kE s Pc: < _2! kA'Z.
B 2n’mf24> (=]
242 k - I r
C 4n’m’f4 (=] it
D 4n’mf24? (=] k= mn? J)'l

So E = ’ln’szA?

E‘E A mass of 0.90 kg is suspended from the lower end of a light spring of stiffness 80 N m™'.

When the mass is displaced vertically and released, it undergoes vertical oscillations of
small amplitude.

What is the frequency of the oscillations?
[1 mark]

A 0.071 Hz [=] = W 09
0
B 0.67 Hz [=]
2 B.4&35
C 1.50 Hz (@] 'S g
D 14Hz =] y: Sy =

|W|I um |I|| Illl IB/NJun20/7408/1
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An experiment is carried out to determine the Young modulus E of steel using a vertical hoy
wire of initial length L and cross-sectional area A. Various weights are suspended from
the wire. A graph of extension against weight is plotted.
extension
0
0 weight
What does the gradient of the graph represent? |
[1 mark]
AE [=] p"‘é :
B [=] = FA
a——
EA Aé/é
c — [=]
. AE - F
L L "y
D — ol
= 3
Turn over for the next question
: Turn over »

l ml I”I’ HII IW 1B/M/Jun20/7408/1
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127 Inthe circuit below, the voltmeter reading is zero. o

I
|!

When the temperature of the thermistor T is increased, the voltmeter reading changes.

Which change to the circuit will restore the voltmeter to zero?
[1 mark]

A a reduction in the emf of the cell
B a reduction in the resistance of P
C anincrease in the resistance of Q

D a reduction in the resistance of R

(0] [o] [o] [o]

| lll III lm HI 1B/MAJun20/7408/1
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A resistor of resistance R and three identical cells of emf £ and internal resistance r are box

connected as shown.

What is the current in the resistor?

[1 mark]
3E Eg= V+ Ir
" ) = RVNEAAY,
OF N _ —
o (3R+7r) (=] Vi= V= V:; N Va
cZ = VN
3E r= E-V
D = [=] I
i= &E-V
(
Culi
Turn over for the next question
Turn over »
I ";m!mw 1B/MIJun20/T408/1
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In the circuit, the reading of the voltmeter is V. *oox
When the switch is closed the reading becomes %
O |
20Q
What is the internal resistance of the cell? L]
[1 mark]
E=V + Ir
A 033Q
=] z Lt Ir |
B 0.67Q [=] raE il 2 BV
C 400 [=] I U
D 6.0Q [=] &
The period of a simple pendulum is doubled when the pendulum length is increased
by 1.8 m.
What is the original length of the pendulum?
[1 mark] |
!
A 0.45m [=] = I 9 \
B 0.60 m [=] , |
Teis T} o
C 0.90 m [=] whay £T ) —
| [—
D 3.6m (=] s

% Tne..e = ?’T'.ﬂ-".a\ Law -~ [‘, ‘H%
e \{ .
%\\ END OF QUESTIONS s - 1§ = (,‘

I ﬂlll! HHLH” Hm 1B/M/Jun20/7408/1



